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— NMYRITaN P2WRT TaR 5o 9927
All agree; he lost the collateral, he lost his money

OVERVIEW

The & 13 cites a npY?rn in a case where one lent money and received collateral, and
the 1own was lost; 71y 72X "1 rules that the mYn swears that it was lost (7"w n¥1aw)
and he collects his loan, X2°py " rules that since he lost the 712wn he lost his money
and cannot collect. In a case where he lent him money with a qvw and also a 11own,
all agree that the M does not collect if he lost the 1own. There is a dispute
between "1 and N1©0IN how to interpret this XN>>72.

- *awn 391 NN NYWa RYY AT DIYN MPIN 39 NN 735 Lwrrse
The explanation why X'’ agrees in this case of o7°Y 1own 17 M3 WWwn HY Mo,
that 1NIvA 1728 1OWNT 72X, is because it was a INRY®T DY ROW 110w, so the Mon
acquired the own —

Moo responds to the anticipated difficulty:’
= INNIDN NYWA RHY 99RT 91919 NINX NPIT IND UPIT 9O

And the word =uvw which the Xn»™M21 mentions is not precise (it does not
necessarily have to be a “wwa m>», in order for X" be 777), but rather he
mentions WY to inform us that it is a case of JIRY?77 NYWa R>W NOWH —

mooIN explains how wwa Mo indicates that the 11owWn was taken IR1?7 VWA ROW:
- 19 290K [1¥] *ANI9N NYWA PIVUN NPY XY XPNDN TOY AUV 1T

" The term "w10' is used to indicate that the explanation does not follow what we may have anticipated. Here mson
is negating (728 11"7) *"w15 mentioned later in this Mo,

% There are two types of 11o0wn; one is where the 171 takes the 115wn at the time of the loan. This is called nywa nown
X127, The other is where the 110w is taken later (usually when the debt becomes due and the Mm% does not pay). This
is called nxY?7 nywa Xow Nnown. The ruling of prix® '3 (on R,29, see footnote # 8) that 11ow» ANP 2117 Hv2 is applied to a
TRY?T NYwa ROW Nown, but not to a a2 NYwa own. The axY27 nywa ROw Nown is considered belonging to the mon,
more than a X127 nywa Nnown. The reason K" is 77 by a IR1?7 NYw3a Xow 119w is because of the ruling of prix> . [It
is seemingly not related to whether it is taken X3>21% or 0727 117371, etc.]

? When one acquires something; he suffers the loss if it is lost or stolen; no one else has a loss.

* oo is saying that the reason X"3 is 77 in the ¥9°0 (where 27>y 11owWn 12 MIM W2 1M?7) is because it was a
R NYWA XYW 1w, but it is not related to the fact that the loan was qwwa. See footnote # 5.

> mpoin just stated (see footnote # 4) that the reason R"1 is 771 in the X5°0 is because it was a X127 nYW2 XHW NOW»,
why then does the X3 mention that it was a w2 m%»; this is seemingly irrelevant?!

A ax9n nvwa 15wn is (usually) taken as a guarantee (see footnote # 2) [or 2>127 11917]; when he has a qvw, he has
no need for a 0127 11317 1Own. Additionally he does not even need the 110wn to be assured of collection, for by a
quwa mon all the real assets of the 717 are indentured to the 7797 (even if he sells them), so he has no need for a 1own.
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For since he wrote a 2w, so presumably the m>» did not take a nywsa Jown

7R1957, [until] later, when the ¥ did not pay (when the loan was due).
= ANIYN NYYWI 139N MD9T XYY DaN

However in the X2 where ¥"71 X" argue; that is by a 87 nywa nown.

mooIn explains a later Xna:
- ANy nywa IN 9N PNNY 2297 930 n9n 8?1‘\8’ 2943 939997 'nY YPINT INNIDY

And according to what the X773 established that ¥y"71 X"7 argue regarding the
ruling of 3'"9; that X713 assumed that s'''9 ruling applies even by nywa 110wn

IRV -
- 9997 N INIYN NYWA NIV 299NRT NOYDA YaN NNA 11P9Y 1Y TYIHN %299
And X'' argues on this mistaken view of °"7; however in the X2°0 which is in a
case of 7R nywa XOW, even X" admits that the MY» acquires the Nown and is
responsible for its loss -
- 1aNivn nywa KoY 9N NPT NN T NP 1Pt
For the p1o5 of 7p7x 17°mn 791 applies mainly to a RS nYwa KOW MW,

In summation; N90IN maintains that the argument in the X" is by a X273 nywa Nown, and the
"7 in the XD°0 is by a X177 nYwa X5w 110wn, and 0w is merely mentioned to indicate that it was
X197 NYwa Xow. The Xna initially assumed that *"1 is also by a ax121 nywa nown.'? [mooin does
not distinguish (in our Xn*™2) whether the Now» is 2127 P or ka2,

moon cites and disagrees with >"w15:
= ONn RN MTOW R, T 97 MYy B23910 NWAY *nvy Puasay VIVNPN VIO Y

However later (71777 nywa X5w) when the M7 did not pay, he took a 119w» (as payment).

7x,20.

¥ 5" derives from the P05 of APTX 7°n 21 (in »,72 [R¥N] 0°727) that a 1"'v2 acquires ownership of the 11own (so he is
liable for it). The ruling of *" applies only to a IR?7 NYw3a Row N2wn. The X3 is saying that ¥"1 who is 27mn the
9 agrees with *", while X" who exempts the M7 disagrees with >"9. See footnote # 9.

° mpoin just concluded the reason X" is X127 NYwa X>w 77 that he is a w"w, because he is 71 the 119wn on account
of prx> 1; so how can the X713 even assume that X" disagrees with *"9. M50 responds.

' The 7%7n there mistakenly made this assumption. Therefore ¥"9 is 2»mn by XY nyw2 Nown for he agrees with this
(mistaken) view of *", while X" disagrees with this (mistaken) view of *"1 (only), and the m%n collects his loan.

" The P10 immediately preceding 7p73 77in 791 are discussing a 19w» which the "2 19w takes from the v,
which is obviously w"»¥ XY nywa R7w. [Mo0N is mainly interested in informing us that X" agrees with "1 by
TRI?7 NYwa K7W 110wn even though he disagrees with him by X177 nywa (according to this mistaken view).]

12 y" agrees with »"3 and X" disagrees with >" by X127 nywa own.

" See footnote # 19 [in the second bracket]. It would seem that there are three types of mnawn discussed here
(according to *"w7). A) 0°127 11371 so the M7 and/or the M remember that there is a loan. B) That the m%» be
assured M0 X7w or assurance that his debt be paid. C) X1°217; the 110wn is taken for an actual payment.

1 See *"w1 there PXMWwT 7"72 who writes; 0™M27 P91 XHR 93P DIR TR 27 23 MY 1KY OWwT and continues 2aR
12 VWAY 2227 NIOT2 0 TR IR AW 193p 1DWR OWY 19 IR LPW POWATY ST TTPOOR 227 170K 0w 11 9K mon
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And on s'>''w1 explanation in the end of 251777 ny1aw P15, where he explained -
= NOYDA MYIIN 229 NI IOV DIUNT

That R''9 in the X230 agrees that 1°"nyn 728 NOWNHA 72X, it is because of the “ww;

meaning -
- Nwr93 115 Prntya 02937 199919 KDY 2P Pavn VY 90Y YT 1197

That since there is a "vw, the M received it for a 11own (surety), but not for a

token of remembrance as in the X9; regarding this interpretation N1901N comments -
= NIOY NIDT DIUWN NHNYYA D937 19910 NIN 119WN VP XY XY INT 110N

It is astounding! For if in the @9, the m%» took the 1>w», only for a token for

Q%927 11127, since there is no "WW, but it is not taken for payment or for assurance -
- PPN 139 PIVND MY 1R T0nwn 15105 XY INBN 19 BN

If indeed it is so, why should it not be v»w» even if the ow? is worth the

amount of the loan -
- VRVYNT RNYYA D927 PIY RINX VP N9T NIPNT (00 ss) 2NN ¥OWNTD

As it seems in 277177 P70 that wherever the 11Own is being held merely for a 1927

2927 only, it is wRwH -

— Ponwn 1N XYY 999 1PIIYN 135 PNIUN MY ONT YNIYUN BN
And there in 27717 P79 it seems that if the value of the own is equal to the loan,
according to everyone it is not vawn!

mMooIn has an additional question on *"wA5:
- TPHN 239 NNt Haowva NPV MTYITN 2295 XYY XNIINN PNINN ’°‘mxp INAN 1IN

X172, [It is unclear why '01n does not cite *"wA here 22K 71"7, who (seemingly) writes the same thing basically. The
»"19 answers that here yaw> 7"72 °"w1 explains that X"2 maintains that he is a n"w since he only took it mwva n1?
1myna (but not R1*217), however *"wa did not say that he is taking it 2127 111912, however in nMy1aw there >"'wA
writes clearly 0127 117317, See footnote # 13. See ‘Thinking it over’ # 1.]

15 See footnote # 6. He does not need the 10wn for a 0°727 P27 since he has a VW, We must therefore assume that he
took the 12w as (a security for) payment of the loan. In this case even if it was 78277 nyw3, the M%7 is 7P the NownH.
' However, in the X9, it was not (necessarily) a 7X1277 N¥W2 XK9w 1owWA (just a w3 Mon).

" vmwn (literally letting go) indicates that this loan cannot be collected after 7vnw, as opposed to taw» WX which
means the loan can be collected after 7w nw.

' If one holds a 1own for payment, 7v»w is not vawn, since the loan has been ‘collected’ already via the 1own.
However, if the 199w is just being held £>127 111212 but not for payment, the loan was not yet collected, so n°y»aw is
vnwn all the outstanding loans.

195"%9 maintains that our Xw™ is in a case where he is holding the 95wn for 127 17731, but not X121 (since there
was no 7o) and the X9°0 where there was a 0w, it is X121%. [However >"w1 does not (seem to) distinguish in our
XN*72 between INRI?1 NYwa and nR1Pa nywa Xow (he only distinguishes between 7vw and no qvw.] The X773 in 2777
teaches that if the 1own is only for 0°127 17107, then N°¥"aw is VAW, so why does the ¥n°*12 in 27757 imply that if the
19wn is worth the amount of the loan, n°¥ 2w is not vAWA, since according to >"w if there is no VW (and it is 11dWH
X127 Nyw3) we consider it merely a 2127 1127, so N°¥°aw should be vawn! [According to moown, however, we do not
infer from the fact that if there is no "W it was taken 0127 111219, rather it is a regular 115wn (even though it may or may
not be R1»213Y), so since it is not 0127 P17, therefore if it is 1NIWA 7210 it is not VAWA. (see footnote # 13)]

20 [x,39.] The n"27 N7 amends this to read K27 10*Nn XN Kp (instead of K27 XNIMAR PR2INA MKP).
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And furthermore, why does the X3 state, ‘that our mw» (which teaches m»nan
v"w Nownn v) is understood to be not in accordance with X''2’; let us establish

the 71wn where he lent him the money with a 9ww, in which case R'' agrees that he
is a w"w, so why say X"12 X97 1n°1nn knnn?!
= ANIIN NYYWA XIYW RIN N0 1N TYIIN 2249 GRT NI YW NON

Rather we derive from this question that even X''% does not admit that he is a
v"w (even with a 70w) unless it was a IR nYwa ROW 0w,

mooin defends >"wHd:
- 90W Y3 YWY PIYNN Y 1NMNT XINY U 1119

However, it is possible to answer (the second question), for the words »¥ 1%

1own (which the 7awn uses), indicates that it was without a 9ww; only with a own;
therefore the 83 could not have answered that the 7iwn is with a 0w —

mooIn offers another reason why we cannot establish our 71wn by a Tuwa mon:
= DN 92V YN 1NITN FINT NN 239 19 NN KD TVWA 39991 PRINND INT MY

And furthermore if our ;7w» is by a "vwa m%», so ' would not have argued
by saying, ‘if he lent him money (with a 20w) he is a n''w -

— 225Dy 539) TN 229N PITN K97
for °"7 would not argue on ¥''"1 R'' who maintain here that by a qowa m» he is a v"w.

mooIn offers support for his view:
= YIYN I3 PRI INTING 297 MV MIVNI)

And in the 3''77 of 1IN SR ', it also seems -
= ANYN NYYWA NHY 299N 90V 1YY NOYDT

That the 820 of our X012, where he lent him 2uwa, is in a case of a X>w 10wn

RI977 NP3 (and not just merely a W2 AR as °"w1 maintains) -
= ANDN NYWIA RO NPIT 139D 19WN NP 2IN HYAT PNYY %29 9INT RN *PmnT

For the 2"77 establishes this which >''1 said that ‘pown 719 n''va is only Nbw

NI nYywa -
= 9P NY NN NYWA VAN

However n1819;7 nywa he is not 7339’5 the 3"712 establishes the following qualification -
- PNIDUN NOX PPownn P00 XY RIOY NIINT 11091 90U RPIT 1390

! According to mooIn, however, who maintains that "ow2' in the X712 merely means that it was a Nywa Xow 1w
X197, there is no question, for the X3 indeed attempted to answer that and it was rejected.

2 See “Thinking it over’ # 2.

* One may need to say that (according to this reasoning of the 3"72) that the 119w is taken to induce the 7% to pay
forthwith (otherwise what is the purpose of the 110wn).
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Only specifically if the loan was =uvwa, for since there is a "vw, he does not

depend on the 11own, but rather on the Ww, so therefore *1p &> AR Vw2 -
- a0y 99w 511 %39 AN NYYA 19%aN 0Y KYa YaN

However if the loan was without a =uw, the 7177 is m3Ip the 1Own even if it was

taken X7 nywa, and the M1 is a w'"2 on the Pown -
- 2545100 119NN INTIT RIOY NIINT 23 I¥ OGN 99Y IV 51 ANITN NYYWA XY

And if it was a R nywa KW NOwn the MY is a w''w even though there is a

"vw, since the MY is certainly depending on the 95w to get paid. This concludes

the ruling of the 2"72a -
- 7anion nywa NXOY 299K 70Wa YMYNT NI 12 ON)

So therefore the 890 which states that auw2a 1197 he is a w"w, is where it was

TR NYwa XYW -
- 32500 YOUNT PMYN TN XY NN NYWAT

For nxY»n7 nywa, according to the 3"72, the m>» did not lose his money, for he
depends on the "W for his payment, not on the 113w —

nvoIN clarifies:
= ANIIN NYYA IDAN 2P 9OY NIIDT NI*NT 99D NNV N

And this which the 3"72 wanted to say that where there is no ww, the mbon

acquires the 11own even if the Nown was taken 777 NYWa; the reason for this is -
- ANITA NYWA KW NIN 399N NY NPT DAY 797 DYON Y

Not on account of prx> 'S who maintains 10w 71 11"V, because the pop, from

where pr¥> " derives his ruling is only discussing a 8?77 nywa X 1own -
:q0Y >1295 1950 PN PNmwa 1N 293 PoxmuTn %P NON

But rather the Mm% acquires the 15wW» from the ruling of ®N»w, and the 3"7
maintains that the 75571 is like YXw, but the 75937 is not like™ now 2.

* This seems to be the exact opposite of w1 nu*w that when the loan is T0w3, the 119wn is taken X129

» moon will shortly explain why he is a @"w by 20w %2 X197 Nyw2 1own. [Presumably this is the view of ¥ only;
not X"7.]

*® The mbn realized that the 7vw is insufficient, and therefore took a 1awn to get paid.

*7 This is the way Moo established the Xn2. See footnote # 4.

*% This is the exact opposite of *"7 who maintains that if it was a Towa 7xY>7, the 119wn is X217 and he is a w"w.
See footnote # 15.

¥ See 3mw1n 2" M who deletes all the words from X7 until the end of '01n and amends it to read instead
ORINWI 77377 PRI A0 273 7197777 1201 o 2771 Accordingly the translation would be ‘but rather the ;9% acquires
the 175w because of noY» 27, and the 3''77 maintains that the 719977 is like oY 29, but the 715%:7 is not like »Xmw’.
30 58w maintains (X,29) that even if the 112wn is worth much less than the loan; if the 7197 loses the 110wn he forfeits
the loan.

3 nOY 29 maintains (X,29) that a 77°a8 MW is considered a w"w. Similarly the M1 who is ‘guarding’ the 12w is also
considered a w"w (even by WNX127 NYWI 12OWN).
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SUMMARY

»"w7 maintains (according to '01n) that the npY?nn is when there is no 7vw (and X"
assumes that the 19wn is 2°727 111219) and the 71"7 is where there is a 20w (the 11own
is X1"°2139); no mention whether it is X127 NYW2 or X177 NYwa X7w. According to
'01n the NPY?nn is X177 Nywa and the 71"7 is AR127 Nywa XYW (regardless whether or
not there is a 7vWw). The 2"n72 maintains that only a 7R NYW2 W2 NOWH is not
n11P; everything else is 1p.

THINKING IT OVER

1. moon asks that from "W in M¥M2Y it seems that the 1OwWn (which is not by a
Tuwa mn) is taken 0°127 P19, so therefore it is not understood why it is vawn.*
However >"wA there states it only in a case where the 79%n is not worth the loan.
Perhaps if the 1own is worth the loan it is not 0127 11317, but rather mwva N>
"NIvn2 as *"w1 writes here. What is 19010 question?!

2. moon defends >"wA that the mawn cannot be discussing a qwwa M9, for then >
would not argue on ¥"71 X" and maintain that he is a n"w.>* The X7 did attempt
to answer that the Xn»92 is talking WXY?77 nywa (there X"9 maintains that he is a
n"w) and the mwn is MRWT NYwa XYW (so it can even follow the view of X"J).
However we cannot establish the X127 nywa X5w 7wn for how will we explain
how >"1 will argue with "1 X"9?1°

3. How can we explain the extreme opposing views [regarding a 7DwWm “ww]
between *"w7 (who maintains that a 11Ow» without a 0w is 0127 11127, and a PownH
with a 70w is X121%) and the 3"72 (that a 110w»n without a W is X12137, but not a
10wn with a ww)?!

2 If the 119971 was like >"1 there would seemingly be no difference whether the loan was Tvw3 or Tuwa Xow; in all cases
he is a w"w. However we can say that the ruling of X" in only when there is no qvw, but not if there is a Tow.

3 See footnote # 14.

** See footnote # 22.

33 See 0"n ,R"WAN.
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